A WAY

Fono installation manual (Mains)
Version 2.6




Contents

A NEW WAY
TO PLAY
. IAcAWAWIieTte This manual contains all information you need to
. IwA i Ce{* 77" assemble and install this product. Make sure you
e IWAICe{e9N+let—- check all safety chapters and follow the
. e?exCextCe instructions to prevent dangerous situations.
. OMN+tiet—ecAAcAWAWIeT2 Ce If you have any remarks or improvements, please

. +inaawi-‘ﬂ+X-INI'- £ eeteAwgntact us.
« xCliweawi+T+X+170-A-CRAA24"
. +(;Iwaaw|-ﬂ+X° ﬂi,,A-I--fWQ°'Hovefunwnththeproduct'
« 'xCiwaawiefeXoLTT-+—Aw®
« rClwaawiefxXe L'n'n—-Aawl-Q-
» rxClwaawiefrXePo WI-+—-INf C-
s, fAfze, CXe ay,”
c A fAT£.,CXel 'n‘ﬂi'i'.,i"ﬂi' Yalp sports- & play equipment
e d¢ JTAfx.,CX i
e owexCeATOA%ooq re T: 0031547289 410
o exW2sAe° WA Ce E: info@yalpnl
e beACeT+C-

L]
o I



1 Preparation

Package information

A NEW WAY
TO PLAY

Crate material
Package weight
Dimensions transport crate (L x B x H)

pine wood

+ 1650 kg/ + 3638 Ibs
2,26 x 077 x 2,2m 75" x 263" x 7'2.6"

Use a Torx (T25) screwdriver to open the crate.

Before assembling the product please make sure:

+ You have all necessary parts
(page 4)

+ You have the necessary tools (below)

Make sure a power cable for the Fono is ready and
installed on location, with an additional length of
at least 2 meters (6.6 ft). The power supply must
be assembled on a separate group with a 30mA
ground fault circuit interrupter (GFCI), fused on
10A or 16A.

YMvKas ground cable, 2 cores, 2,5mm2 Maximum
cable diameter; 18mm (0.004in2 O.7")

Tool list

Assembling
« (Power) tools for M12 and M16
+ Security Torx-45 bit (with hole cut-out)
« M8 tap
+ Hobby knife

Installation
« Forklift truck/small crane with forks

+ 12x M10 anchor bolts or other to mount
the Fono to the ground (to be decided
dependent on mounting surface)

v

When placing Fono:

+ Make sure at least 1,5m of free
space without obstacles is available
around the Fono for safety reasons.

+ When Fono is placed in a playground,
create fall height zones around:



2 Parts - Fono

A WAY
TO PLAY
123-110 | 1,,||123-410 | 4, |[123-510| &4, ||123-430| &,
Fono concrete Tube left front Tube left back Tube stand
211692 | 1,,([210944 | 1,,[[906701 | 2,.||705684 | 1,.||705685 | 1,
Roof right side Roof left side Roof flange Big roof plate Small roof plate




3 Parts - Mounting

A WAY

TO PLAY
69427 | 16,.||033414_] 16, ||041013_] 16,.| |043563_] 32, |[905774 | 25 s
Cloxx connector Bolt M12x90 Bolt M12x120 Hex nut M12 Blue insert -F
100-214 | 32,||100-249 | 4 ,,|[100-230 | 16,| |100-241 | 8 ,||100-248 | 4 .
Bolt M8x20 secured Bolt hex socket M8x55 | Hex bolt rec. head M8x25| Hex bolt M8x30 Hex bolt M16x25
100-271 | 22,||100-281 | 22,.,||100-284 | 4, |[100-285| 8,
Torque nut M8 Washer M8 Washer M16 Big washer M8 24mm




4 Dimensions

A NEW WAY
TO PLAY
FONO DJ TABLE
DIMENSIONS
- Mains power -
‘N
Sk
[50,2]
1274
S2 !: : 02 B
B L )
35 @ o
[33,7] [62,8]
dimensions between] ] in inches %"éé’] 857 1596
otherin mm




5 Mounting preparations

A NEW WAY
TO PLAY

Preparations
Customer takes care of a pow-
er cable on location, with an
additional length of at least 2
meters (6.6ft).



A NEW WAY

TO PLAY
—6 mounting
(96,7] points per
2456,9 side
[131083] 12,2 (hole distance)
— ) ~ _
* 77—
Qg 8
—® 5
—] = [150] | (Do) g
g L2
70 33] 271.6 25
o\ WD 5 3
EX 25
] 400 ©
V_\[\ -
R —
o~ N
ity
—_— ol No
Power 5323
cable input N
— N
<3 (2008) (1474 3
Nun / h

! Important!
The drawing above shows the dimensions for a concrete foundation of
the Fono. There are 6 mounting points on each side.
Very important for installing the Fono is the location of the power ca-
ble. Be careful it's located at the right spot: in the left foot of the Fono,
from DJ point of view.

v \



6 Installation: Put Fono in

plqce A WAY

TO PLAY

1. Liftthe Fono above the power
cable with a forklift.

side view
I
pallet 0
= |
i
11
I
U 2. Pullthe cable through the
T Fono (see picture below).
power cable
side view
pallet
3. Place the Fono gently in the right slowly
position on the ground.

side view power cable
pallet
0 .

power cable




7 Installation: Power supply

A NEW WAY
TO PLAY

1. Open the Fono hood.

2. Pullthe power cable through the left foot (from DJ point of view) through the tube in the
concrete base, trough the speaker room, on to the electronics room beneath the Fono interface.

3. Led the cable into the junction box* where the 230V cable can be connected
to the 12V power system of the Fono by a certified installer.

!'Important !
The power supply must be assembled on a separate group with a 30mA ground fault circuit inter-
rupter (GFCI), fused on 10A or 16A. For example with a protection box of the type: Merlin Gerin, MG
10A-B 19791 DPNA VIGI 30MA.

! Warning ! Danger of cutting fingers
Be careful for your fingers when closing the hood! If not stopped from falling it closes very quickly
giving severe hazard.

1 2
1. Junction box*
2. Power supply

3. Amplifier

4. Computer box \
;I, % 12V

230V 12 V (diameter max. 18 mm)

A

Standard power condition

power cable

Junction box*

Connect the ground cable to the power
cable inside to Fono in the junction box,
as shown on the left.

ground cable A

(supplied by client)

v |




A

This option is only admissible to use at exhibitions. Remove cable and install follow-

ing option A for permanent installation.

WAY
TO PLAY

1. Junction box*
2. Power supply
3. Amplifier

4. Computer box

\

12V

230 V Temporarily power cable through

water drain concrete base

Exhibition purpose only

(PRE-INSTALLED) Connector
In case of replacing the power supply, use this
picture to rightly connect the cables to the

connector.
Brown

green/ yellow —

inside AC connector

\

— Blue

A




8 Installation: Concrete base

A WAY
TO PLAY
1. Liftthe Fono concrete base in
position. We recommend using a 123-110 L pcs

forklift or a crane with forks.

Lift with crane: Only with use of crane leveler,
as shown in figure 1. (only lift verticall)

[] B

Fono concrete

Figurel

L=

Lift with forklift:

- Use a padllet or other protection between
forks and concrete!!!

2. Putthe Fono in a stable position and
bolt it to the floor using anchor bolts.

g/



















































